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Listening Comprehension

P Task1 Listen to the questions and choose the best answer to each of them.

1. A.Yes, I am trading.
C. Yes, I am.

2. A.I’m not sure.
C. An English major.

3. A.Yes, Ido.
C. I did two months ago.

4. A.1have worked for so many years.
C. I need your help.

5. A. The salesmen worked hard.

B. No, I am an office worker.

B. The Personnel Department.

B. Not since June.

B. I want to have more experience.

B. We achieved 150% growth in sales last year.

C. The Human Resource Department made great progress.

P Task 2 Listen to the short dialogs and choose the best answer to each question.

6. A. In a restaurant.
C. At a post office.

7. A. A new apartment
C. Anew car.

8. A. Someone who can type quickly.
C. Someone who is pretty.

9. A. She disliked big companies.
C. She didn’t like the pressure.

B. At the Customs.
D. In a bank.

B. A film ticket.
D. A business card.

B. Someone who shows up on time.
D. Someone who is handsome.

B. She was not good at business.
D. She didn’t like foreign companies.

10. A. To put him through to the general manager.

B. To have a talk with the general manager about his work.

C. To arrange an appointment for him with the general manager.

D. To have dinner with the general manager.

P Task 3 Listen to the conversations and choose the best answer to each question.

Conversation 1
11. A. Import and Export Company.
C. Beijing.

12. A. Mr. Smith himself.
C. A tour company.

B. Pacific Machine.
D. ABC Company.

B. Mr. Smith’s secretary.
D. Beijing Import and Export Company.
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Conversation 2

13. A.In 1916. B. In 1906.
C. In 1960. D. In the 1960s.
14. A. Large machines. B. Electrical products.
C. Washing machines. D. Electronic products.
15. A.2,500. B. 3,000.
C. 3,500. D. 4,000.

P Task4 Listen to the passage and complete the organization structure of the

company.
Jack Baker
16. Production 18. Personn
Department Department Department Department Department epartment
Purchasing
Section Sectlon Sectlon Sectlon

p Task 5 Listen to the passage and answer the questions.

21. What is the purpose of the dinner?
To welcome Mr. Brown and

22, Where is Mr. Brown from?
He is from

23. What business does Mr. Brown’s company deal with?
It deals with
24. What is the aim of Mr. Brown’s visit?
To explore for business cooperation.

25. When did business relations between the two companies begin?
In
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Words and Structures

P Task1 Complete each statement by choosing the appropriate answer from the

10.

11.

12.

13.

four choices marked A, B, C and D.

. With a year’s hard work, he basic knowledge of English.

A. has caught B. has acquired C. has required D. has acknowledged

Can you tell us some interesting of city life?

A. features B. fingers C. figures D. feathers

The physics teacher said that the earth around the sun.

A. moves B. is moving C. moved D. had moved
. Our manager in local newspaper for a new secretary.

A. advised B. advertised C. advanced D. addressed
. —What’s wrong with our English book?

—One page is .

A. disappeared B. losing C. missing D. missed

Before she went abroad she spent as much time as she could English.

A, practice to speak B. practicing speaking

C. practice speaking D. to practice speaking

Itis of him to take on a hard job.

A. identical B. capable C. beneficial D. typical

He couldn’t have finished the task on his own last night, ?

A.dol B. could he C.don’t] D. did he

—There were already five people in the car but they still managed to take me.

—It a comfortable journey.

A. can’tbe B. shouldn’t be

C. couldn’t have been D. mustn’t have been

With a typewriter, he can in his post as an assistant.

A. play B. force C. overcome D. excel

The old Silk Road China with the West in ancient times.

A. combined B. tied C. joined D. linked

The missing boy was last seen in the playground.

A. play B. to have played C. played D. playing

I to go to bed earlier during the winter.

A. tend B. tender C. trend D. tendency
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14.

15.

16.

17.

18.

19.

20.

I have no one me, but I can deal with it myself.

A. help B. to help C. helped D. to have helped

I'd these children to stay at kindergarten the whole day.

A. rather - B. better C. prefer D. agree

You can’t imagine what great difficulty I have had your lost novel.

A. for finding B. to find C. in finding D. found

Many scientists are judged their achievements in scientific research.

A. in spite of B. in favor of C. in case of D. in terms of

Ben is looking for another job because he feels he his boss like a waiter.

A, satisfies B. serves C. promises D. supports
Russian, Jack has to study a second foreign language.

A. Including B. However C. In addition to D. Moreover

The automobile manufacturers are the largest in that country.

A. employers B. employees C. employs D. employment

P Task 2 Fill in each blank with the proper form of the words and phrases given in

21.
22.
23,

24.
25.
26.

27.

28.

29.
30.

brackets.
Mr. Black (fuel) his car twice a month.
It is no use (stay away from) him. He is making unbearable noises.
The millionaire insisted that he (invest) money in shares, mines and
railways.
Once we have (relate) information, we can report it to the judge.

(unfortunate) she has got a bad cold and can’t attend the conference.

Do you remember (introduce) Prof. Smith to Dr. Li during his first visit to
China?
Mrs. Smith keeps smiling when I'm making a report as if she (agree) with
me on all the terms.
David was so (disappoint) about the decision that he ran out of the
classroom.

(inspiration) by the memory of her mother, Joan creates her best music.

(review) his lessons, my brother went to bed.
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Reading Comprehension

P Task 1 Read the following passage and choose the best answer from the four

choices marked A, B, C and D.

In the hope of becoming millionaires, many Filipinos (3£ 2 A\ ) began drinking more

Pepsi. They hoped to get a bottle cap with the winning number on it. In May 1992, the number
was announced: 349. Thousands rushed to get their reward with their bottle caps worth a
million pesos (about US$40,000) each.

But Pepsi wouldn’t pay. The company said there was a mistake. The numbers on the caps

did not include a security code ({£f&5), so the caps were not really winners. Up to 800,000
bottle caps had the number 349.

Pepsi has spent millions of dollars on the problem. The company has paid 54 million

pesos to real winners. It also paid 500 pesos for each No.349 cap without the security code.

1.

Many Filipinos wanted to become millionaires, so they

A. began to buy lottery tickets ()

B. tried to work for Pepsi

C. began to drink more and more Pepsi because of the taste
D. began to drink more and more Pepsi for the rewards

. Who were the real winners of the 1992 Pepsi promotion?

A. Those who had got No.349 on the cap.

B. Those who had got No.349 on the bottle.

C. Those who had got No.349 on the cap with a security code.
D. Those who had got No.349 on the bottle with a security code.

. Which of the following is not true?

A. All those who had got the number of 349 got some money.

B. Those who had got the number of 349 didn’t get the same amount of money.
C. None of those who had got the number of 349 were rewarded.

D. The company made a mistake.

Which of the following is true?

A. The company spent millions of dollars paying both real winners and all No.349 caps.
B. The company spent millions of dollars getting back the caps with No.349.

C. The company spent millions of dollars only paying the real winners.

D. The company spent millions of dollars going to court.

. From the passage we can guess that “peso” is

A. the name of a brand B. the name of a kind of drink

C. the name of a company D. the name of Filipine money
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p Task2 Read the following passage and choose the best answer from the four
choices marked A, B, C and D.

Bath & Body Works is an American retail () store. It was founded in 1990 in New
Albany, Ohio, and has since expanded across the country. It sells numerous fragrant lotions,
bath items, personal care items, and so on. The company started both a seasonal catalog and
a website in 2006. In November 2006, Bath and Body Works launched its first television
commercial advertisement. Net sales of January 28, 2006 were US$2,285,000,000, higher
than all other Limited Brands, except Victoria’s Secret.

In July 2008, the company announced that it was finally opening up six branches in
Canada. With this, they felt it was the opportunity to move into a growing Canadian market,
with The Body Shop being its main competitor.

In January 2009, they moved on from the old-style bottles, and created more handsome
elegant bottles. The labels also changed, including those of Candles, Room Sprays and
Fragrance Oils. They also expanded their online shopping website, offering shipping to
Canada.

6. Bath & Body Works was founded in .
A. Canada B. New Zealand
C. America D. Australia

7. Which of the following is not true?

A. Bath & Body Works sells numerous fragrant lotions, bath items, personal care items,
and so on.

B. The company started both a seasonal catalog and a website in 2006.
C. Bath & Body Works launched its first television commercial advertisement in 2006.
D. Net sales of January 28, 2006 were higher than all other Limited Brands.

8. Which company is the main competitor of Bath & Body Works in Canada according to the

passage?

A. Victoria’s Secret. B. The Body Shop.

C. New Albany. D. Fragrance Oils.
9. Which part of the business was not improved in 2009?

A. Labels. B. Bottles.

C. Online shopping website. D. Slogans.

10. Which is the best title for this passage?
A. The History of Bath & Body Works.
B. The Best American Retail Store.
C. The Development of Bath & Body Works.
D. The Best Choice for Body Care.

P Task 3 Read the following passage and fill in the blanks with the information in
the passage. Each of your answers should be no more than four words.

The Ford Motor Company is an American multinational corporation ( B&[E /] ) and the
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world’s fourth largest automaker based on worldwide vehicle sales, following Toyota, General
Motors, and Volkswagen. Based in Dearborn, Michigan, the automaker was founded by Henry
Ford who set up the company on June 16, 1903.

In 2007, Ford fell from the second-ranked automaker to the third-ranked automaker in
US sales for the first time in 56 years, behind General Motors and Toyota. Based on 2007
global sales, Ford fell to the fourth-ranked spot behind Volkswagen. Ford is the seventh-
ranked American-based company in the 2007 Fortune 500 list ( { i & ) 50038 ), based on
global revenues in 2007 of $172.5 billion. In 2007, Ford produced 6.553 million automobiles
and employed about 245,000 employees at around 100 plants and facilities worldwide. Also
in 2007, Ford received more quality awards from J. D. Power and Associates than any other
automaker. Five of Ford’s vehicles were ranked top of their categories and 14 vehicles ranked
in the top three.

Ford introduced methods for large-scale manufacturing of cars and large-scale
management of an industrial workforce. They used elaborately engineered manufacturing
sequences typified by moving assembly lines (%% fit £&). Henry Ford’s methods came to
be known around the world as Fordism by 1914.

11. According to the passage,
worldwide vehicle sales.

is the world’s first largest automaker based on
12. In 2007, Ford fell from the second-ranked automaker to the third spot in terms of
13. In 2007, Ford employed about 245,000 employees at around 100 plants. Here “plants”

means

14. Five of Ford’s vehicles ranked at the top of their categories. Here “their” refers to

15. “Fordism” in the text refers to

P Task4 Read the following passage and answer the questions.

McDonald’s Corporation is the world’s largest chain of fast-food restaurants, serving
nearly 58 million customers daily. McDonald’s primarily sells hamburgers, cheeseburgers,
chicken products, French fries, breakfast items, soft drinks, milkshakes, and desserts. More
recently, it has begun to offer salads, wraps and fruit. Many McDonald’s restaurants have
included a playground for children and advertising aiming at children, and some have been
redesigned in a more “natural” style, with a particular emphasis on comfort: introducing
lounge areas (&R X ) and fireplaces ( B24/), and getting rid of hard plastic chairs and tables.

McDonald’s Corporation has expanded its menu in recent decades to include alternative
meal options (3%#%), such as salads and snack wraps, in order to make profits from people’s
growing interest in health and wellbeing.

Each McDonald’s restaurant is operated by a small company who holds a license, from
groups associated with it, or the corporation itself. The corporation’s revenues (¥ A ) come
from the rent, royalties (#£ 1%, ) and fees paid by the licensed companies, as well as sales
in company-operated restaurants. McDonald’s revenues grew 27% over the three years ending
in 2007 to $22.8 billion.
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16. Did McDonald’s sell salad and fruit when it first opened for business?

17. Why has McDonald’s become many children’s favorite place?

18. What is the purpose of adding salads and snack wraps to the menu?

19. What information do you get about the growth of McDonald’s revenues in the past three
years ending in 2007?

20. In how many ways does McDonald’s Corporation get its revenues?
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